
Two-Digit Addition (L)

68 + 96 = 17 + 20 = 62 + 80 =

91 + 22 = 96 + 56 = 45 + 90 =

33 + 43 = 38 + 41 = 26 + 83 =

28 + 60 = 17 + 72 = 22 + 11 =

99 + 96 = 70 + 38 = 74 + 98 =

10 + 48 = 23 + 13 = 68 + 35 =

72 + 99 = 57 + 10 = 62 + 69 =

12 + 62 = 20 + 93 = 71 + 28 =

72 + 23 = 24 + 18 = 53 + 88 =

35 + 18 = 78 + 43 = 50 + 80 =

69 + 11 = 65 + 52 = 48 + 25 =
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Two-Digit Addition (L) Answers

68 + 96 = 164 17 + 20 = 37 62 + 80 = 142

91 + 22 = 113 96 + 56 = 152 45 + 90 = 135

33 + 43 = 76 38 + 41 = 79 26 + 83 = 109

28 + 60 = 88 17 + 72 = 89 22 + 11 = 33

99 + 96 = 195 70 + 38 = 108 74 + 98 = 172

10 + 48 = 58 23 + 13 = 36 68 + 35 = 103

72 + 99 = 171 57 + 10 = 67 62 + 69 = 131

12 + 62 = 74 20 + 93 = 113 71 + 28 = 99

72 + 23 = 95 24 + 18 = 42 53 + 88 = 141

35 + 18 = 53 78 + 43 = 121 50 + 80 = 130

69 + 11 = 80 65 + 52 = 117 48 + 25 = 73
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